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झारखण्ड शैक्षिक अनुसंधान एवं प्रक्षशिण पररषद्,रााँची 

Model Question Paper (प्रक्षिदशश प्रश्न पत्र)  

(2024 - 2025) 
MCQ BASED QUESTIONS 

(बहु विकल्प-आधारित प्रश्न) 

Class – 11    
(कक्षा – 11) 

Subject – Commercial 
Arithmatic           

(विषय –िाविवययक अकंगवित) 

F. M. – 40    

(पूिाांक – 40) 

Time 1 Hour 
(समय – 1 घंटा) 

INSTRUCTIONS/क्षनदेश : 
 There are 40 Multiple Choice Questions.                                                              

कुल 40 बहु विकल्प-आधारित प्रश्न हैं । 

 All Questions are compulsory. Each question carries 1 mark.                             

सभी प्रश्नों के उत्ति अवििार्य ह।ै प्रत्रे्क प्रश्न के वलए एक अंक विधायरित ह।ै 

 Four options are given for each question, choose one of the correct option.        

प्रत्रे्क प्रश्न के चाि विकल्प दिए गए हैं, इिमे से एक सही विकल्प का चर्ि किें। 

 There is no negative marking for any wrong answer.                                         
गलत उत्ति के वलए कोई अंक िहीं काटे जाएंगे। 

 

1-  65-30924 dks n’keyo ds nks LFkkuksa rd ‘kq) fy[ksa& 

 Write 65.30924 correct up to two decimal places- 

(a) 65-30   (b) 65-309   (c) 65-31   (d) 65-3092 

2- 7]92]348 dk ewy gtkj ds lfUudV fudkysa& 

Find the root of 7,92,348 to the nearest thousand- 

(a) 793 gtkj  (b) 792 gtkj  (c) 7923 gtkj (d) 79 gtkj 

3- √0.0169 dk n’keyo ds ,d LFkku rd lfUudV fudkysa& 

 √0.0169  rounded off to one decimal place gives- 

(a) 0-1   (b) 0-2   (c) 0-13  (d) 1-3 

4- 2 QhV 9 bap dks xt ds n’keyo esa cnfy,& 
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Convert  2 feet 9 inches into decimal of yards- 

(a) 12-43 xt  (b) 0-916 xt  (c) 1-61 xt (d) 90 xt 

5- vfuy : 200 izfr ekg ,oa lquhy : 250 izfr ekg dekrk gSA ;fn os nksuksa : 175 

izfr ekg O;; djrs gks] rks mudh cpr dk vuqikr gS& 

Anil earns Rs 200 per month and Sunil earns Rs 250 per month. If both of them 

spend Rs 175 per month, then the ratio of their savings is-  

(a) 4%5   (b) 1%3   (c) 8%7  (d) 10%7 

6- X + Y = 30 vkSj x : y = 3 % 2] rks X dk eku gS& 

X + Y = 30 and x:y= 3 : 2, then the value of X is- 

(a) 30   (b) 20    (c) 18   (d) 12 

7-  4] 5 rFkk 12 dk prqFkZ lekuqikrh gS& 

The fourth proportional to 4, 5 and 12 is- 

(a) 15   (b) 12    (c) 60   (d) 21 

8- uokioR;Z rkfydk dh lgk;rk ls 875 yhVj isVªksy dk ewY; crk;as] ;fn ,d yhVj isVªksy 

dk ewY; : 4-75 gks& 

 With the help of a conversion table, find the price of 875 liters of petrol, if the price 

of one liter of petrol is Rs 4.75 - 

(a) : 875   (b) : 415   (c) : 4]156-25 (d) : 415-625 

9- ;fn 4 ?kksM+ksa dk ewY; 6 xk;ksa ds ewY; ds cjkcj gks] 3 xk;ksa dk ewY; 20 HksM+ksa ds ewY; 

ds cjkcj gks vkSj 10 HksM+ksa dk ewY; 16 eseuksa ds cjkcj gks] rks Jà[kyk fu;e ds }kjk 1 

?kksM+k dk ewY; D;k gksxk] tc ,d eseuk dk ewY; : 17 gS\ 

If the value of 4 horses is equal to the value of 6 cows, the value of 3 cows is equal to 

the value of 20 sheep and the value of 10 sheep is equal to 16 lambs, then according 

to the chain rule 

(a) : 340   (b) : 272   (c) : 68  (d) : 2720 

10- ;fn ,d MkWyj = 5-04 ÝkSad] 12-6 ÝkSad = 1ikSaM ¼£½] : 100 = 5-8 ikSaM ¼£½] rks 

 : 1000 ds Hkqxrku ds fy, fdrus MkWyj pkfg,\  

If one dollar is worth 5.04 francs, 12.6 francs is worth 1 pound (£), Rs 100 is worth 

5.8 pounds (£), 

(a) $145   (b) $14-5   (c) $252  (d) $135  

11- ;fn X dk 5% = 20 gS] rks X dk eku gS& 

If 5% of X is 20, then the value of X is- 
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  (a) 400   (b) 200   (c) 100  (d) 300 

12- ;fn dksbZ oLrq 20% dh gkfu ij : 64 esa csph tkrh gS] rks og fdrus :i;s esa   

 csph tk;s fd 12-5% ykHk gks\   

If an item is sold for Rs 64 at a loss of 20%, then for how much rupees should it be 

sold to make a profit of 12.5% 

  (a) :100  (b) : 90   (c) : 75  (d) : 80 

13-  fdlh ijh{kk esa 550 mEehnokj lQy jgs vkSj dqy mEehnokj dk 45% vlQy gks x;sA 

 ijh{kk esa cSBus okyksa dh dqy la[;k Fkh& 

In examination 550 candidates were successful and 45% of total candidates fail . The 

total number of candidates who appeared in the examination was? 

(a) 1300  (b) 1000   (c) 900  (d) 1100 

14- fdrus le; esa 6% izfro”kZ lk/kkj.k C;kt dh nj ls : 500 dk feJ/ku : 620 gks 

    tk;sxk\ 

 In how much time will an amount of Rs 500 become Rs 620 at the rate of simple 

interest per annum of 6 years? 

(a) 3 o”kZ  (b) 4 o”kZ   (c) 5 o”kZ  (d) 6 o”kZ 

15- ;fn nj leku gks] rks lk/kkj.k C;kt dh jkf’k pØof̀) C;kt dh jkf’k ls ------- gksrh gS & 

(a) de  (b) vf/kd   (c) cjkcj  (d) vfuf’pr 

If the rate is the same, then the amount of simple interest is ….than the  compound 

interest- 

(a) less    (b) more   (c) equal  (d) uncertain 

16- 120 larjs cspus ls ,d Qy foØsrk dks 20 lUrjs ds ewY; ds cjkcj ykHk gksrk gSA mlds 

ykHk dk izfr’kr gS& 

By selling 120 oranges, a fruit seller earns a profit equal to the price of 20 oranges. 

His profit percentage is- 

(a)   33
1

3
%  (b) 15%   (c) 20%  (d) 17%  

17- ,d cfu;k : 300 izfr fdxzk dh pk; vkSj : 400 izfr fdxzk dh pk; 7%3 ds vuqikr 

esa feykrk gSA fefJr pk; dks : 363 izfr fdxzk dh nj ls csprk gSA izfr’kr esa mldk 

ykHk gksxk\ 

 A trader mixes tea of Rs 300 per kg and tea of Rs 400 per kg in the ratio of 7:3. He 

sells the mixed tea at the rate of Rs 363 per kg. His profit in percentage is  

(a) 20%  (b) 30%   (c) 10%  (d) 15%  
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18- ,d nyky foØrk ls 2% rFkk Øsrk ls 1% nykyh ds :i esa izkIr djrk gSA ;fn O;kikj 

: 76]000 esa r; gqvk gS] rks mldh dqy nykyh gS& 

A broker gets 20% from the seller and 1% from the buyer as brokerage. If the deal is 

fixed for Rs 76,000, then his total brokerage is- 

(a) : 2280  (b) : 1520   (c) : 740  (d) : 1340 

19- ,d oLrq dk lwph ewY;] foØ; ewY; rFk udn ewY; Øe’k% : 500 ,oa : 408 gSaA 

O;kikfjd cV~Vk dk nj gS& 

The list price, selling price and cash price of an item are Rs 500 and Rs 408 

respectively. The rate of trade discount is- 

(a) 10%  (b) 20%   (c) 15%  (d) 4%  

20- ladqfpr fof/k }kjk ¼3607½2 dk eku yk[k ds lfUudV gS& 

By the compressed method the value of (3607) is nearest to lakh- 

(a) 130 yk[k  (b) 36 yk[k   (c) 131 yk[k  (d) 360 yk[k 

21- ;fn vuqikr ds izR;sd in leku gks] rks mls --------------- vuqikr dgrs gSaA 

(a) le vuqikr  (b) lkekfud   (c) fo”ke  (d) ?kukuqikr 

If each term of a ratio is equal, then it is called a ratio. 

(a) even ratio  (b) equal   (c) odd    (d) volume ratio 

22- fuEu eas ls dkSu lk lcls cM+k vuqikr gS\ 
7

3
] 

25

7
] 

35

9
] 

19

2
 

  Which of the following is the largest ratio? 
7

3
] 

25

7
] 

35

9
] 

19

2
 

  (a) 
7

3
   (b) 

25

7
    (c) 

35

9
   (d) 

19

2
 

23- ;fn X + Y = 30 vkSj X : Y = 3%2 rks x dk eku gS& 

If X+Y= 30 and X: Y = 3:2 then the value of x is- 

(a) 30   (b) 20    (c) 18   (d) 12 

24- 30 euq”; fdlh dk;Z dks 45 fnuksa esa iwjk dj ldrs gSaA blh dk;Z dks fdrus vkSj euw”; 

25 fnuksa esa iwjk dj ldrs gSa\ 

30 men can complete a piece of work in 45 days. How many more men can complete 

the same work in 25 days?  

(a) 24   (b) 16    (c) 18   (d) 9 

25- ;fn fdlh lekuqikr ds vfUre rhu in 2] 3 ,oa 6 gksa] rks izFke in gS& 
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If the last three terms of a proportion are 2, 3 and 6, then the first term is- 

(a) 1   (b) 2    (c) 8   (d) 0 

26- 90 fdlh izfr ?k.Vk dh pky dks feVj izfr lsds.M esa O;Dr djsa& 

90 Express the speed of any person per hour in metres per second- 

(a) 25 ehVj@lsds.M    (b) 30 ehVj@lsds.M  

(c) 900 ehVj@lsds.M    (d) 9000 ehVj@lsds.M 

27- bVyh dh eqnzk gS& 

(a) ;su   (b) MkWyj   (c) yhjk  (d) Vkdk 

The currency of Italy is- 

 (a) yen   (b) dollar  (c) Lira  (d) Yaka 

28- 0-216 cjkcj gS&  

0.216 is equal to- 

(a) 21-6%  (b) 0-216%   (c) 2-216%  (d) 0-2216%  

29- 5% deh’ku ?kVkus ds ckn ,d jsfM;ks dh dher : 9]595 gSA bldk ldy ewY; gS& 

After deducting 5% commission, the price of a radio is Rs 9,595. 

(a) : 10]000 (b) : 10]095  (c) : 10]100 (d) : 9]150 

30- ,d nqdkunkj ykxr ewY; ij lkSnk csprk gS] fdUrq mldk ,d fdyksxzke dk okV 750 xzke 

otu dk gSA mldk ykHk dk izfr’kr gS& 

A shopkeeper sells goods at cost price, but his one kilogram weight is 750 grams. His 

profit percentage is- 

(a) 5
5

19
%   (b) 33

1

3
%   (c) 38

1

8
%   (d) 11

1

9
%  

31- 20% rFkk 30% ds Øekuqlkj cV~Vs ds lerqY; ,d cV~Vk gS& 

A discount equivalent to a discount of  20% and  30% respectively is- 

(a) 40%  (b) 44%   (c) 46%  (d) 50%  

32- ,d oLrq dks : 4 ds fy, cspk x;k rFkk X% dk cV~Vk fn;k x;k] rks bldk vafdr ewY; 

gksxk& 

An article is sold for Rs 4 and a discount of X% is given. Then its marked price is  - 

(a) 
100%

100 −𝑥
   (b) 

100%

1−𝑥
   (c) 

100%

1−(𝑥×1,00)
  (d) 100% − 𝑋  

33- 36-30924 esa fdrus lkFkZd la[;k,¡ gSa\ 

 How many significant numbers are there in 36.30924? 

 (a) 2   (b) 4    (c) 6   (d) 7 

34- ladqfpr fof/k ls 463258 × 12345 dk ;FkkFkZ eku nl yk[k ds lfUudV fudkysaA 
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Find the exact value of 463258 × 12345 to the nearest million by compressed method  

(a) 5719× 106 (b) 5719× 107 (c) 5719× 105 (d) 5719× 104 

35- og rkfydk ftlesa ,d ls ysdj ukS oLrqvksa dh dher nh gqbZ jgs ------------ dgykrk gSA  

(a) uokiorZ~; rkfydk  (b) ukS rkfydk    (c) vkof̀r rkfydk    (d) rqyukRed rkfydk   

The table in which prices of items from one to nine are given is called… 

(a) Neorefractive table    (b) Nine Table 

(c) Frequency table    (d) comparative table 

36- ;fn 21 xk;sa 14 HkSalksa ds cjkcj gks vkSj 35 HkSal 15 ?kksM+ksa ds cjkcj gks] rks 35 xk;sa 

fdrus ?kksM+ksa ds cjkcj gS\ 

If 21 cows are equal to 14 buffaloes and 35 buffaloes are equal to 15 horses, then 35 

cows are equal to how many horses? 

 (a) 25?kksM+ksa  (b) 10?kksM+ksa   (c) 15?kksM+ksa  (d) 20?kksM+ksa 

37- ;fn 6 vke 4 lsc ds cjkcj gS vkSj 6 lsc 12 larjs ds cjkcj gS] rks 30 vke------------  

larjs ds cjkcj gS& 

 If 6 mangoes are equal to 4 apples and 6 apples are equal to 12 oranges, then 30 

mangoes are equal to.......... oranges- 

 (a) 20   (b) 30    (c) 50   (d) 40 

38-   
1

4
 = ? % 

  (a) 75   (b) 90    (c) 60   (d) 25 

39- ;fn fdlh /ku dk 10% okf"kZd nj ls 02 o"kZ ds ljy C;kt rFkk pØof̀) C;kt dk varj 

: 11 gS] rks /kujkf'k gS& 

If the difference of a sum is Rs 11, then the amount of simple interest and compound 

interest for 2 years at 10% annual rate is- 

(a) : 1]200  (b) : 1]100   (c) : 1]000 (d) : 1]400 

40- fuEu esa dkSu lk lgh gS\  

(a) ykHk = Ø; ewY; &foØ; ewY;   (b) ykHk = Ø; ewY; + foØ; ewY;    

(c) ykHk = foØ; ewY; & Ø; ewY;  (d) buesa ls dksbZ ughaA 

 Which of the following is correct?  

(a) Profit purchase price selling price  (b) profit purchase price selling price 

(c) Profit Selling price Buying price  (d) None of these. 
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Answer Key 

Q. N0. Ans Q. N0. Ans Q. N0. Ans Q. N0. Ans 

1 c 11 a 21 b 31 b 

2 b 12 b 22 d 32 a 

3 c 13 b 23 c 33 c 

4 b 14 b 24 a 34 a 

5 b 15 a 25 a 35 a 

6 c 16 c 26 a 36 b 

7 a 17 c 27 c 37 d 

8 c 18 a 28 a 38 d 

9       b 19 c 29 c 39 b 

10 a 20 a 30 b 40 c 

 

 


